Homework 3

SNU 4910.210 Fall 2008

Kwangkeun Yi

due: 10/10 24:00
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black : F=
white : -
glue: i x B x By x By By
rotate : Y — FY4

neighbor : 9] %] x FY| — int

pprint : 34 — void
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(define B black)
(define W white)
(define Basic (glue B B B W))
(define (turn pattern i)
(if (<= i 0) pattern else (turn (rotate pattern) (- i 1))))

(define Compound (glue Basic (turn Basic 1) (turn Basic 2) (turn Basic 3)))
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glue-array-from-tree: FY x FY x FY x FY — FY
glue-array-from-array : F3 x FY x FY x FY — FY
rotate-array: FY — FY
neighbor-array: <X x Y — int
pprint-array: Y — void
=

is-array?:
g2 FdE A9, Sevke F5E

glue-tree-from-tree: FY x FY x FY x FY — FY
glue-tree-from-array : Y x FY x FH x Y — FY
rotate-tree: FY — FY
neighbor-tree: 93 x FY — int
pprint-tree: Y — void

is-tree?: Y — bool
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equal : FY x Y — bool

size: ¥Y — int
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beautiful : Y — bool
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atom : int — code

dot : code X code — code
bar : code x code — code

optional : code — code

star : code — code

de-atom : code — int

de-dot-0 : code — code

de-dot-1: code — code

is-atom? : code — bool
is-dot? : code — bool
is-bar? : code — bool
is-optional? : code — bool
is-star? : code — bool
de-star : code — code
de-bar-0 : code — code

de-bar-1: code — code

de-optional : code — code

g2
(de-atom (atom n)) = n
(de-dot-i (dot ¢y ¢1)) = ¢
(de-bar-i (bar cy c1)) = ¢
(de-star (star ¢)) = c
(de-optional (optiomal ¢)) = ¢
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match : 2E & x T E — bool
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